Process utu* etu* 0l
ttW 68 £ 10 97 £13 225+31
ttZ / tty 259+£39 64.8+9.0 328+5.1
WZ 1514+7.7 26 £13 82124
77 1.16 = 0.65 29+15 1.62+0.87
WEW=qq 40+21 7.0+3.6 —
WEWT (DPS) 25+1.3 42422 —
VVV 3.0+1.5 49+25 04240.26
tttt 23+1.2 41+21 1.8+1.0
tZq 58+3.6 10.7 £ 6.1 39+25
tZW 21+11 39+2.0 1.70£0.86
7y conversions — 23.8+7.8 74+28
Nonprompt 809 +94 135+ 35 26 =14
Charge misidentification — 58 £17 —
Total background 211 £17 443 £ 45 106 £ 16
ttH 242+21 352+29 183+17
tHq (SM) 143+0.12 1924015 0.5240.04
tHW (SM) 071+0.06 1.11+£0.09 0.62+£0.05
Total SM 237 £17 482 4- 45 126 £ 16
tHq (ky = 1 = —xy) 185+ 1.6 274+21 7.4840.58
tHW (kv =1 = —xy) 7721065 11.23+091 7.38+0.60
Data 280 525 127



